D1vISION: NEGATIVE DECIMAL NUMBERS (H - SET 1)
DIVISION

Name:

Time: Score:

1) —12.04 = 0.005 =

212 (0.1818 +- 0.1 =

213 —0.000159 = 0.003 =

21 3.168 =+ 0.04 =

275) ().11664 = 0.04 =

276)  —2.0536 — 0.04 =

211) 4.246 - 0.1 =

278) 1.6608 + 0.4 =

2190 508.5 + 0.1 =

250 —0.025626 = 0.006 =

281) —37.1+0.5 =

252)0.01524 + 0.006 =

283) 75.6 - 0.7 =

281) —109.72 - 0.2 =

285) —15.345 + 9 =

Mathematics: Division - Level 6 - Horizontal - Set 1
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286)

287)

288)

289)

290)

291)

292)

293)

294)

295)

296)

207)

298)

299)

300)

—0.95566 = 0.009 =

—143.28 -4 =

—0.107 = 0.02 =

0.1188 =+ 0.01 =

0.002125 = 0.005 =

—1.4544 = 0.009 =

—3.7557 <+ 0.009 =

25.732 + 0.004 =

62.739 + 0.009 =

—0.9092 = 0.1 =

388.62 + 0.9 =

33.908 +4 =

0.24912 < 0.003 =

220+04 =

—50.83 + 1=
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